SEAMC 2007 Relay Questions
Relay 1a
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           Ans: 1
Relay 1b

Let k be the number you receive

Solve 
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Write your answer as a fraction.                                     Ans: 25

Relay 1c.

The number you receive is the slope (or gradient) of the line

passing through the point (-1, -5).  Find the y-intercept.                 Ans: 20

Relay 2a

Today is Feb 3, the first Saturday in February.   The first Saturday in May this year is May ?                                                                                Ans: 5

Relay 2b

Let k be the number you receive.  A set of k numbers has median 15, range of 10 a single mode of 12, and a mean of 16.  Find the 2nd largest number.                           Ans: 19

Relay 2c. 

Let k be the number you receive.

Find 
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.                                                           Ans: 280

Relay 3a
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 Find the numerator of the larger fracti
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Ans: 5

Relay 3b

Let k be the number you receive.  Find the x-intercept of the line

                    
[image: image5.wmf]1

2

yx

k

=-+

                                      Ans: 10

Relay 3c

Let k be the number you receive.  The two lines are parallel.  Find the area of the larger triangle.  Express your answer as an improper fraction.
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                                                                             (0, 2)

                                                                              (0,0)                (3, 0)       (k, 0) 

Ans: 100/3

Relay 4a

Find the sum of the positive integers from 1 to 20.                                Ans: 210
Relay 4b

Let k be the number you receive.  How many prime factors does k have?          Ans: 4
Relay 4c.

Let k be the number you receive. Evaluate:
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                                                  Ans:  2.083333…
Relay  5a

Let k be the number you receive.  Find the sum of the greatest common factor and the least common multiple of 4 and 26.                                       Ans:   54

Relay 5b

Quadrilateral ABCD is inscribed in a circle.  The number you receive is the measure of 
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.                                             Ans:126

Relay 5c

Let k be the number you receive.  Find the number of unique positive integral factors of k.                                                                                  Ans:  12
Relay 6a

Find the 16th prime number.  The first prime number is 2.                  Ans: 53

Relay 6b

Let n be the number you receive.  How many prime numbers p

are there so that 
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.                                                                 Ans:  16

Relay 6c

Let k be the number you receive.  Find the largest prime factor of 
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Ans:  5   

Relay 7a

Let n be the number you receive.  A regular polygon has 10 sides.  Find the measure of an interior angle.                                                                 Ans: 144
Relay 7b

Let k be the number you receive.  Find the smallest prime number greater than k

Ans: 149
Relay 7c

Let k be the number you receive.  Find the largest prime number less than k.

Ans: 139
Relay 8a  (pass your answer back)
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                                               Ans:  48
Relay 8b

Let j be the number you receive from the person ahead of you.  Let k be the number you receive from the person behind you.  Evaluate:
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                               Ans:  24/25
Relay 8c (pass your answer forward)

A circle is inscribed in a square and another circle in circumscribed about the square.

Find the ratio of the area of the smaller circle to the area of the larger circle.

Ans: 0.5
Relay 9a  (pass your answer back)

Triangle ABC is inscribed in a circle so that segment AB is a diameter.

Find measure of angle ACB

Ans: 90

Relay 9b

Let j be the number you receive from the person in front of you and let k be the number you receive from the person behind you.

Find the Greatest Common Factor of j and k.                     Ans: 6

Ans: 12

Relay 9c  (pass your answer forward)

Find the sum: 
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                                       Ans: 48

Relay 10a

Find the smallest integer n so that 
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                             Ans 7

Relay 10b

Let k be the number you receive.  The sum of k consecutive integers is 91.  Find the mean (average) of the numbers.                                             Ans: 13

Relay 10c

Let k be the number you receive.

A is the kth prime number.  B is the same number with the digits reversed.

Find A+B.                                                                                 Ans:  55
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